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. (i+2) . : . . . (i+8) . : . . 5
The expression { is equivalent to which of the following? The expression { is equivalent to which of the following? m
a1 . 1-2i a. 1+8i ¢ 1-8 g
b. 1+2i d i-2 b. i—8 d 7 L
S
s
s
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i(i°+7)—6="2 i(i° +3)+9="2
a. 7i+1 c. 1-7i a. 3i+12 c. 843
b. —6+7i d —T7+7i b. 12-3i d 9+3i
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Which of the following is equivalent to 6i(—7i +9) — 2(1 — 2i) in the form a + bi? Which of the following is equivalent to —7i(—2i + 8) + 5(—7 — 4i) in the form .m.

a. 44+50i c. —40+50i a+bi? 3

b 40+58i d. —52-46i a. 21-36i c. —49-76i g

b. 49 -36i d. 91+34i L
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Which of the following is equivalent to i’%9
a. —1
b. 1 d i

o
|
~

Which of the following is equivalent to i°%9
a. —I c. i
b. -1 d 1




Imagine_notes.gwb - 9/38 - Sat Jan 09 2021 10:16:01

Imagine_notes.gwb - 10/38 - Sat Jan 09 2021 10:16:18

ExamViel/

£
Q
Which of the following is the complex conjugate of —10 —4i. Which of the following is the complex conjugate of 14 — 11i. 2
a. —10+4i c. 10-4i a. 14+11i c. —14+11 5
b 4+10i d. 10+4i b, —14-11j d. 11-14i m
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Which of the following shows the solutions for - 16x2 80 =07
a x=-2i 2i 2+/5, or —24/5

b x=-2,2 25, 0r 2[5

x=-222/5i or —24/5i

d. x=-2i, 2i, 2~f5i, or —2f5i

o

Which of the following shows the solutions for o 19x?-20=0?
a x=-1,1,25 or —2.f5

b. X=—10, i, mz\wv or \N)\w

xX=-1i, i, wz\wu or |M)\w

o x=-1,1,2+/5i, or —2~f5i

o
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The expression $ is equivalent to which of the following? The expression $ is equivalent to which of the following? g
- - Q
. —A0+34i . 40340 . 3444 . 844 m
32 ’ 52 " 80 ’ 80 g
b, 4034 g 30+34i b, 8-44i g 8t44 E
) 5] © 80 " 80 z
2
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The expression (4 + 2i)(—1 + 5i{2 +4i) is equivalent to which of the following?
a. —100—20i c. 100-20i
b. —100+20; d. 100+ 20i

The expression (5 — 3i)(1 + 3i)(—4 —4i) is equivalent to which of the following?
a. —8—104i c. —8+104i
b. 8—104i d. 8+104i
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The expression (7 + 81)(9 + ﬁ.wv is equivalent to which of the following? The expression (6 + 97)(3 + Q.Mv is equivalent to which of the following? .m
a. 14+16i c. —14-16i a. 18-27i c. —18-27i @
b. 14-16i d —14+16i b. 18+27i d —18+27i s
£
E
:
powered by - red b -
mxw:..s.m_m\w mxw:..s.m_m\w
The expression % is equivalent to which of the following? The expression ﬁ is equivalent to which of the following?
o 2t4 . 24 o It2 o 121
SRR S TS5 378 © 3-8
9—4i 9+4i —1-2i —1+2i
> 575 ¢ i > 3 ¢ Sisi
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The expression —26 — 104i is equivalent to which of the following? The expression 34 + 62 is equivalent to which of the following? .m.
a. (—1+35)(1+4)(1 +50) c. (L+5)(1+4)(=1+5i) a. (—4-20(1+39)(—4 +31) c. (4-20)(1+3)4+30) S
b (1+5)(—1+40)(1 + 5i) d (—1+3)1+4)(-1+5) b (4-20)(—1+30)(—4+30) d (—4-20)(-1+3)(4+30) m
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The expression 75 + 90i is equivalent to which of the following?
a. (=5—6i)(=6+9i%) c. (5-6i)6+9i%)
b, (5—6i)(—6+9i%) d (-5—60)6+9i%)

The expression (3 —4i)(—2 — wmv — 5 is equivalent to which of the following?
a. 16+28i c. —16-28i
b. 16—28i d -16+28i
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The expression (8 — 7)(8 — 3i%) + 3 is equivalent to which of the following? The omm:.mm&om (=5 + 501 + 4i)(-5 — 2i) + 7 is equivalent to which of the .m

a. 91+77i . 91-77i following? g

b —91+77i d -91-77i a. —102-125i c. 102-125{ S

b. —102+125i d. 102 +125{ 2
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The omm:.mm&om (4 —4i)(—4 - 2i)(-3 — 2i) - 8 is equivalent to which of the The expression (1 —4i)(-2 — wmv —4 —9i is equivalent to which of the following?
following? a. 1-21i c. —1+21i
a. 80+24 c. 8024 o 1421 4 —1-21i

b. —80-24i d. —80+24i
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The expression (—7 — 5i)(—4 —2i*)+ 1 +9i is equivalent to which of the The expression (-5 —34)(—4 + 2i)(1 + 5i) — 2 — 7i is equivalent to which of the 2
following? following? m

a. —15+19i ¢ 15+19i a. 141251 c. 14+125i S

b —15-19; d 15-19i b. =14 +1251 d —14-125 2
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The expression (—1 — 5i)(1 + 2i)}3 —5i) — 7 — 9i is equivalent to which of the

following?
a. —15+75i c. —15-75i
b, 15+75i a. 15-75i

The expression (7i — mﬁ.veM — 9.& is equivalent to which of the following?
a. —33+87i c. —33-87i
b. 33+87i d. 33-87i
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The expression (6i — &.NVGM — 9.& is equivalent to which of the following?
a. 30+72i c. —30+72i
b. —30-72i a 30-72i

Given a = 2+2i and b = 2 —2i, what is the product ab?
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Given a = —9 +4i and b = -9 — 4i, what is the product ab?

Givena = )\H +7iand b = )\I — 7i, what is the product ab?
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Givena = )\m +9% and b = )\m —9i, what is the product ab?
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Givena = )\m +9% and b = )\m —9i, what is the product ab?
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